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No.|4E| A | B | AL | XhésE| B & B E X HFHE
1 |29fal7] 1,600  -1,6007 7/ HHE EkHER 2
2 |29] 4|25 360,000 358,400\ TR B2 (- 3H14)) B TE B
3 [29] 4 |27 3,460 354,940|8 HEEI 485 - Az
4 29| 4 |28 3,003| 351,847|FEEREIMN 4A% whlE AR
5129|518 6,264| 345,583|/ V=Y —RBL4H S BRHERE
6 (29| 5|14 402 345,181(T AN AT IR |BERHERE
7 29| 5|27 ™ 3,460 341,721|FEHERIN 554 ERBAR

| 8 129|529 3,003 338,628[BETERTRAK 5A% WRHAR
9 |20]6]5 321|  338,307[774L EEHERE
10 (29| 6| 5 6,264| - 332,043 <y= ) —=$F 584> BRHERE
11 |29] 6|9 1,382] - 330;661|7 7V ERHERE
12 [29] 6 |27 3,460 327,201{REBEFTEIMN 6B & BRI
13 29| 6 |29 3,003| 324,108 FHHEM 685 Er |
14 129|713 6,264| 317,844| =V —2E 6 A 5 ERHERE
15 | 20| 7 |27 3,838 314,006|R8 HFBIR 7R EEBAE|
16 (291 7 |30 3,003| . 310,913|FFRFENR TA L ERFARE
17 |29 7 | 30 3,093| 307,820|BA &R 7TAS R
18 29| 8 |3 6,264|  301,556] V= U —=kk TALY BEHERE
19 [29] 8 |27 3,838 207,718|RE RFTEAIL 8RS TR AR
20 29| 8 |29/ . 3,003| 294,625 FEHHA 8AL ERE A
21 |29| 8 |31 3,093| 291,532(#A BEFEMR 8A% A
22 |29] 9| 4 6,264| 285,268\ /=Y —=kt 8B4y BERHERE
23 (29| 9| 6 3,838 281,430(BE BRI 954> G AL
24 29| 9|7 6,912  274,518] v V—nit 954 RATRE | AR
25 |29 9 19| 3,003| 271,425|zEFEEBAN 9A 4 TR A
26 |29] 9|19 3,003| 268,332|F AR 9AL |EREAR

& 360,000|  91,668| 268,332 '




